C:# Multiplying Using Arrays Name:

Usethearray provided to solve each problem. Answers

1) 69x43 = 2) 56x56 =

1.

: : 2

: i 4

A I 5

6.
3) 53x34= 4) 32x14 =
5) 39x24= 6) 32x38=
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Multiplying Using Arrays Name: Answer Key
Usethearray provided to solve each problem. Answers
1) 69x43 = 2) 56x56 =
1. 2,967
40 3 50 6
: : > 3,136
60 60 x 40 60: 3 3 1,802
a0 i 50 (50 x 50) (30 % p)
; 2,500 1300
: : s 448
o [exa) @y | . 5. 936
360 2 6 (6 x 50) (:é x 6)
300 36 6. 1’216
3) 53x34= 4) 32x14 =
30 4 10 4
50 :
(50 30) (50 % 4) 30 | (30 x 10(30 x 4)
1500 2 300 1120
3 ""('X'BO)"'('I&:'%4 E
) 12 : 2 [BX10) B xY)
20 8
5) 39x24 = 6) 32x38 =
20 4 30 8
30| (30x20) (30x}4) 30 (30 x 30) {30x 8
600 120 900 ' 240
------------ 2 [TTTTTRE TR
9 9x20) (9x4 60 16
180 136
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